T

PRECISION TOOL HOLDER SYSTEMS

HSK




®
<5 O-N-W HSK-T £S5 2T &

'?‘%ﬁ*ﬂ' REFERENCE DETAILS

MSH A

DRM S L-

[l

d3 d4
e H10 H11
+0.03
HSK-T32 32 (24.007| 17 |20.5| 19 31 4 4.2 16 3.2 23 20 16 7.05 | 6.932 0
+0.03
HSK-T40 40 [30.007| 21 |25.5| 23 39 4 5 20 4 23 20 16 8.05 | 7932 0
+0.035
HSK-T50 50 |[38.009| 26 32 | 29 49 7 6.8 25 5 30 26 18 | 10.54 | 10.425 0
+0.035
HSK-T63 63 |48.010| 34 40 | 37 62 7 8.4 32 6.3 30 26 18 | 12.54 | 12.425 0
+0.035
HSK-T80 80 [60.012] 42 50 | 46 79 7 | 10.2 40 8 30 26 18 | 16.04 | 15.93 0
+0.035
HSK-T100 | 100 (75.013| 53 63 | 58 99 7 12 50 10 34 26 20 |20.02| 19.91 0

iSI= Features:
E: © Taper tolerance <AT3.
OHERE <AT3 © Hardness>HRC56°

© Carbon depth>0.8mm.
© Roundness <0.8um.
© Surface roughness: Ra<0.25um.

OTEE :>HRC56°
OBHFRE :>0.8mm

OHEREE :<0.8um © The shank has pre-balance at G6.3,and can provide
OXHEHKEE :Ra<0.25um precision balance at G2.5, made by request.
O JIF AR ER T G6.3, TRIMEEEZFEE G2.5 © Shank body standard:DIN ISO 12164-3:20008

O ZAEFSE :DIN ISO 12164-3:20008




HSK-T £ 82T & <> O-N-W ®

-HSK-T-SBK MEFESRESTIE HSK-T-SBK OUTSIDE DIAMETER TURNING AND MILLING TOOL HOLDER

HSK. NO ? i @ @ . _
! N
— | 3
L
A;“:E%‘\ Note

* EEERLEATC BERIERN TS | FREGADE -
Please take care to prevent interference within the | NO restriction on left or right hand direction
ATC cantilever and the machine.

C B8
- # # Model RER L L1 L2 L3 L4 D DI Hl H2 H3 B G KGS
Lf HSK-T50-SBK20*20R-95 HSK-T50 |120| 95 | 26 | 31 | 60 | 50 | 48 | 32 |37.75| 51 | 20 | M10*1.5P | 2
= HSK-T63-SBK20*20R-110 HSK-T63 |142(110| 26 | 36 | 60 | 63 | 61 | 32 |3775| 51 | 20 | M10*1.5P | 2.5
§ -SBK25*25R-110 HSK-T63 |142|110| 26 | 36 |67.5| 63 | 61 | 32 |37.75| 51 | 25 | M12*1.75P | 2.8
= -SBK1" *-1" R-110 HSK-T63 |142|110| 26 | 36 |67.5| 63 | 61 | 32 |3775| 51 | 1" | M12*1.75P | 2.8
% HSK-T100-SBK25*25R-120 HSK-T100 [170[120| 29 | 35 [110[100| 98 | 32 [3775| 51 | 25 | M12*1.75P | 6.5

-SBK1" *1" R-120 HSK-T100 |[170[120| 29 | 35 [110[100| 98 | 32 |3775| 51 | 1" | M12*1.75P | 6.5

A& ER:
Ll KJE Length (L1)
AE-L/ AE-R
Direction-L /Direction-R
JI#F#E O A\ Cutter bar interface size
Ih8
AL Shank size

£{X = Function Code




5 0-N-w®

HSK-T £ E 8] FE

-HSK-T-SBN SMEERERTIE

HSK-T-SBN OUTSIDE DIAMETER TURNING AND MILLING TOOL HOLDER

C

/N Note &

* D EEEBLE ATC BERIMANTS 0

Pleasetqkecareto preventinterferencewithinthe ZSEiEﬁ'\E?EI‘ (R) =

ATC cantilever and the machine. This diagram shows a right hand turning tool (R) ko

A HRER L0 LT L2 L3 L4 L5L6 L7 D D1D2 Bl B2 B3 H1 H2 d 28 7]

KGS &
HSK-T50 -SBN20*20R-110 HSK-T50 | 135 |31|110|26| 72.8 |52.8| * |60| 83.1 |50 |48| * | 20 |25|43.5|35|35| M10*1.5P | 2.4
-SBN20*20L-110 HSK-T50 | 135 (31| 110 |26 | 72.8 |52.8| * |60| 83.1 | 50 [48| * | 20 |25|43.5/35|35| M10*1.5P | 2.4
HSK-T63 -SBN20*20R-110 HSK-T63 | 142 (32| 110 |26 | 72.8 |52.8| * |60| 83.1 | 63 [61| * | 20 |32|43.5/35|35| M10*1.5P | 2.9
-SBN20*20L-110 HSK-T63 | 142 (32| 110 |26 | 72.8 |52.8| * |60| 83.1 | 63 [61| * | 20 |32|43.5/35|35| M10*1.5P | 2.9
-SBN25*25R-110 HSK-T63 | 142 (32| 110 |26 | 70.8 |45.8|40|70| 85.2 | 63 [61(90| 25 |32| 53 |39|39|M12*1.75P | 3.2
-SBN25*25L-110 HSK-T63 | 142 (32| 110 |26 | 70.8 |45.8|40|70| 85.2 | 63 [61(90| 25 |32| 53 |39|39|M12*1.75P | 3.2
-SBN1" *-1" R-110 HSK-T63 | 142 (32| 110 |26 | 70.8 |45.8|40|70| 85.2 | 63 [61(90| 1" |32| 53 |39|39|M12*1.75P | 3.2
-SBN1" *-1"L-110 HSK-T63 | 142 |32|110| 26| 70.8 |45.8|40|70| 85.2 | 63 |61|90| 1" |32| 53 |39|39|M12*1.75P | 3.2
HSK-T100-SBN25*25R-135 HSK-T100| 185 |35| 135 |29| 88.5 [63.5| * |70/ 102.9 {100/98| * | 25 |32| 59 |43|43|M12*1.75P | 6.4
-SBN25*25L-135 HSK-T100| 185 |35| 135 |29| 88.5 [63.5| * |70| 102.9 {100/98| * | 25 |32| 59 |43|43|M12*1.75P | 6.4
-SBN1" *-1" R-135 HSK-T100| 185 |35| 135 |29| 88.5 [63.5| * |70/ 102.9 {100/98| * | 1" |32| 59 |43|43|M12*1.75P | 6.4
-SBN1" *-1" L-135 HSK-T100| 185 |35| 135 |29| 88.5 [63.5| * |70/ 102.9 {100/98| * | 1" |32| 59 |43|43|M12*1.75P | 6.4
-SBN32*32R-140 HSK-T100| 190 |35|140 (29| 89 | 59 | * |85/ 109.9 [100/98| * | 32 |37|68.5/48|43| M14*2.0P | 7.2
-SBN32*32L-140 HSK-T100| 190 |35|140 (29| 89 | 59 | * |85/ 109.9 [100/98| * | 32 |37|68.5/48|43| M14*2.0P | 7.2

AR RA:

FmE-L/ 7E -R

1 L14€E Length (L1)

Direction-L /Direction-R

4L S Function Code

Shank size

I JI#F#EEO AN Cutter bar interface size
I
AL




HSK-T £H#HE 8] FE

5 0-N-w®

‘HSK-T-SBH /MEERERTIE

HSK. NO

HSK-T-SBH OUTSIDE DIAMETER TURNING AND MILLING TOOL HOLDER

Aﬁ{%‘\ Note
* ETFEPLE ATC BERIMAN T

Please take care to prevent interference within the

ATC cantilever and the machine.

RIRERTE

No restriction on left or right hand direction

A& 1R ED IO L1 L2 L3 D D1 Bl B2 B3 H1 H2 G %GE;
HSK-T50-SBH20*20R-90 HSK-T50 [ 115/40| 90 |26 | 70 |50 |48 |20 |25 |43.5/27.5| * M10*1.5P | 1.8
-SBH20*20R-120 HSK-T50 | 145|70| 120 | 26 | 100 | 50 | 48 | 20 | 25 |43.5|27.5| * M10*1.5P | 2.3
HSK-T63-SBH20*20R-90 HSK-T63 | 122 40| 90 |26 | 70 |63 |61 |20 |32|4.35| 30 * M10*1.5P | 2.5
-SBH25*25R-90 HSK-T63 | 122 |40 | 90 |26 | 65 |63 |61 |25|32| 53 |40.5| 29.5 | M12*1.75P | 3.1

-SBH1" *-1" R-90 HSK-T63 | 122 |40| 90 |26 | 65 |63 |61 |1"|32| 53 |40.5| 29.5 | M12*1.75P | 3.1
-SBH25*25R-120 HSK-T63 | 152 | 70| 120 |26 | 95 |63 |61 | 25|32 | 53 |40.5| 29.5 | M12*1.75P | 3.7

-SBH1" *-1" R-120 HSK-T63 | 152 | 70| 120 |26 | 95 |63 |61 | 1" |32 | 53 |40.5| 29.5 | M12*1.75P | 3.7
HSK-T100-SBH25*25R-105 HSK-T100 | 155 |35 | 105 | 29 | 80 |100/98 |25|32| 59 | 48 | 37 | M12*1.75P | 6.1
-SBH1" *-1" R-105 HSK-T100 | 155 |35 | 105 | 29 | 80 |100/98 | 1" |32 | 59 | 48 | 37 | M12*1.75P | 6.1
-SBH25*25R-150 HSK-T100 | 200 | 35 | 150 | 29 | 125 |100{ 98 | 25 |32 | 59 | 48 | 37 | M12*1.75P | 8.9
-SBH32*32R-105 HSK-T100 | 155 | 35| 105 | 29 | 75 |100|/ 98 | 32 | 40 |68.5| 57 | 43 | M14*2.0P | 7.4

AR RAR:

Ll KJE Length (L1)

7@ -L/ 7318 R

I TI#FZE O K/ Cutter bar interface size
IHEEfLS Function Code
SERRAZ T Shank size

Direction-L /Direction-R




5 0-N-w®

HSK-T £ E 8] FE

‘HSK-T-SBV SMEESKERTIE

HSK-T-SBV OUTSIDE DIAMETER TURNING AND MILLING TOOL HOLDER

HSK. NO
— r E
L2 '
ﬁ@ L1 '
L
INFERR Note
* BRI ATC BEBAVRANTS C
Please tqke care to prevent ipterference within the 2!:4EE7J_<E$$7] (R) g
ATC cantilever and the machine. This diagram shows a right hand turning tool (R) j E
= s
A TRED L LO L1 L2 L3 L4 D D1 Bl B2 B3 H1H2H3 G E&f %’55
HSK-T50 -SBV20*20R-95 HSK-T50 |120|31| 95 |26 |15| 60 |50 |48|20|25|43.5|25(25| 5| M10*1.5P | 2 %—\_
-SBV20*20L-95 HSK-T50 |120|31| 95 |26 |15| 60 |50 48|20 |25|43.5|25(25| 5| M10*1.5P | 2 EE=
HSK-T63 -SBV20*20R-95 HSK-T63 |127|32| 95 |26 |15 60 |63 |61|20|32|43.5/33(32|13| M10*1.5P | 2.7
-SBV20*20L-95 HSK-T63 |127|32| 95 |26 |15 60 |63 |61|20|32|43.5/33(32|13| M10*1.5P | 2.7
-SBV25*25R-105 HSK-T63 13732 105| 26 |20 70 |63 |61|25|32| 45 |30|30| 5 [M12*1.75P | 2.9
-SBV25*25L-105 HSK-T63 (13732 105|26 (20| 70 |63 |61|25|32| 45 |30|30| 5 |[M12*1.75P | 2.9
-SBV1" *-1" R-105 HSK-T63 |137|32| 105 |26 20| 70 |63 |61 |25|32| 45 |30(30| 5 |M12*1.75P | 2.9
-SBV1" *-1" L-105 HSK-T63 |137|32| 105 |26 [20| 70 |63 |61|25|32| 45 |30(30| 5 |M12*1.75P | 2.9
HSK-T100-SBV25*25R-150 HSK-T100 (200|35| 150 | 29 [20| 110 |100({98 |25 |37| 59 |48|43|23|M12*1.75P | 8.5
-SBV25*25L-150 HSK-T100 (200|35| 150 | 29 [20| 110 |100(98 |25 |37| 59 |48|43|23|M12*1.75P | 8.5
-SBV1" *-1" R-150 HSK-T100 [200|35| 150 | 29 [20| 110 |100{98| 1" |37| 59 |48|43|23|M12*1.75P | 8.5
-SBV1" *-1" L-150 HSK-T100 [200|{35| 150 | 29 |[20| 110 (10098 | 1" |37| 59 |48|43|23|M12*1.75P | 8.5
-SBV32*32R-150 HSK-T100 [200({35| 150 | 29 |20| 110 [100|98| 32 |40|68.5|45|43|15| M14*2.0P | 9
-SBV32*32L-150 HSK-T100 |200|35| 150 | 29 [20| 110 |100|/98| 32 |40|68.5|45|43|15| M14*2.0P | 9

AR RA:

L1 K E Length (L1)

FE-L/ AE-R
Direction-L /Direction-R

£{XS Function Code

] RAZR, Shank size

I TJIFFE AN Cutter bar interface size
Ihd




HSK-T £H#HE 8] FE

5 0-N-w®

‘HSK-T-SBT 4MEEHE S TIE

HSK-T-SBT OUTSIDE DIAMETER TURNING AND MILLING TOOL HOLDER

HSK. NO

fﬁ% Note

* L FEERLE ATC 8B RIMMRN TS

Please take care to prevent interference within the
ATC cantilever and the machine.

REAXRTEFET] (R)

This diagram shows a right hand turning tool (R)

A HRER L L0 L1 L2 L3 D D1 D2 B1 H2 H3 G %Gi;

HSK-T50 -SBT20*20R-95 HSK-T50 | 120 [31] 95 [26| * | 60 | 50 48] * |20|35(43.5/ 15| M10*1.5P | 2.3
-SBT20*20L-95 HSK-T50 | 120 [31] 95 [26] * | 60 | 50 |48| * | 20|35 [43.5/ 15| M10*1.5P | 2.3
HSK-T63 -SBT20*20R-95 HSK-T63 | 127 [32] 95 [26] * | 60 | 63 |61| * |20]35[43.5/ 15| M10*1.5P | 2.6
-SBT20*20L-95 HSK-T63 | 127 [32] 95 [26] * | 60 | 63 |61| * |20]35[43.5( 15| M10*1.5P | 2.6
-SBT25*25R-115 HSK-T63 | 147 [32] 115 [26] 40| 70 | 63 |61]90 (25|43 | 53 [ 18| M12*1.75P | 4.4
-SBT25*25L-115 HSK-T63 | 147 [32] 115 [26] 40| 70 | 63 |61]90 (25|43 | 53 [ 18 |M12*1.75P | 4.4

-SBT1" *-1" R-115 HSK-T63 | 147 [32] 115 [26] 40| 70 | 63 |61]90 (25|43 | 53 [ 18| M12*1.75P | 4.4

-SBT1" *-1" L-115 HSK-T63 | 147 [32] 115 [26| 40| 70 | 63 |61]90 | 25|43 | 53 | 18 | M12*1.75P | 4.4
HSK-T100-SBT25*25R-150 HSK-T100 | 200 [35| 150 [29| * |110|100|98| * |[25|48| 59 |23 |M12*1.75P | 8.9
-SBT25*25L-150 HSK-T100 | 200 [35| 150 [29| * |[110|100|98| * [25|48| 59 |23 |M12*1.75P | 8.9

-SBT1" *-1" R-150 HSK-T100 | 200 [35] 150 [29| * |[110|100|98| * [25|48| 59 |23 |M12*1.75P | 8.9

-SBT1" *-1" L-150 HSK-T100 | 200 [35| 150 [29| * |110|100|98| * [25|48| 59 |23 |M12*1.75P | 8.9

AR RA:

I 7]
I
HARAZ T, Shank size

Ll K[E Length (L1)

A -L/ M -R
Direction-L /Direction-R

FFZO A/ Cutter bar interface size

H8E{XS Function Code



®
5 O-N-W HSK-T £ E 5B

-HSK-T-TSB W@Eiﬁﬁﬁ‘ﬂ@ [ %EJ] ﬁfﬁ ] HSK-T-TSB INNER DIAMETER TURNING AND MILLING TOOL HOLDER(FOR BORING BAR )

F1G. 1 FIG. 2
D H1 H1

HSK. NO D
H3  H2| HSK. NO HA _H3 H2
1 1 1 1 1
I ,i%,I == < ,'j',, g
G ‘
L2
L2 L3 L1
L1 L
FIG.3 FIG. 4 0
H1
HSK. N
D H4 _ H3 H2| SK.NQ H1
HSK. NO H3__H2]
| ,gﬁ_,JE - =72 C
Y |
T
(%) 2 & L2L4 2
L1 E
L < 2
L E

/N EE Note

* EERLE ATC B R AE T
Please take care to prevent interference within the
ATC cantilever and the machine.

0
%=
ot
2
7]
PE

2

=

M L LT L2 L3 L4 D DI D2 d H1 H2 H3 H4 G FIG KGE;

HSK-T50 -TSB8 -65 HSK-T50 |90 | 65|39 (26| * |50 |28 * | 8 40| 9 |20 | * M8*1.25P | 1 | 0.7
-TSB10-70 HSK-T50 |95 | 70 |44 (26| * |50 |35 * |10 45| 9 |22 | * M8*1.25P | 1 | 0.8

-TSB12-75 HSK-T50 [100| 75|49 (26| * |50 (42| * |12 50| 9 |22 | * M8*1.25P | 1 1
-TSB16-95 HSK-T50 |[120| 95 |69 [26| * | 50|48 | * |16| 70 |14 | 18 | 18 | M10*1.5P | 2 | 1.3
-TSB20-95 HSK-T50 |[120| 95 |69 [26| * |50 |52| * |20| 70 |14 | 18 | 18 | M10*1.5P | 3 | 1.4
-TSB25-110 HSK-T50 |135|110( 84 (26| * |50 |62 | * | 25| 85 |14 | 26 | 26 | M12*1.75P | 3 | 2.1
-TSB32-125 HSK-T50 [150|125|99 (26| * |50 |62 | * |32 [100| 14 | 30 | 30 | M12*1.75P | 3 | 2.
HSK-T63 -TSB8 -65 HSK-T63 | 97 | 65|39 (26| * |63 |28 * | 8 (40| 9 |20 | * M8*1.25P | 1 | 0.9
-TSB10-70 HSK-T63 [102| 70 | 44 (26| * |63 |35| * |10 45| 9 |22 | * M8*1.25P | 1 | 1.1
-TSB12-75 HSK-T63 [107| 75|49 (26| * |63 |42 | * |12 50| 9 |22 | * M8*1.25P | 1 | 1.2
-TSB16-100 HSK-T63 |132|100| 74 |26 | * |63 |48 | * |16 | 70 |14 | 18 | 18 | M10*1.5P | 2 | 1.7
-TSB20-100 HSK-T63 |132|100| 74 |26 | * |63 |52| * |20| 70 |14 | 18 | 18 | M10*1.5P | 2 | 1.8
-TSB25-115 HSK-T63 |147|115/89 [26| * |63 |62 | * |25| 85 |14 | 26 | 26 | M12*1.75P | 2 | 2.5
-TSB32-130 HSK-T63 [162|130(104|26| * | 63 |62 | * |32 |100| 14 | 30 | 30 | M12*1.75P | 2 | 2.6
-TSB40-145 HSK-T63 [177|145|119|26| * | 63 |68 | * |40 |115| 16 | 36 | 36 | M16*2.0P | 3 | 2.9
HSK-T100-TSB8 -75 HSK-T100 [125| 75 | 46 |29 |36|100|/28 32| 8 |40 | 9 |20 | * M8*1.25P | 4 | 2.4
-TSB10-80 HSK-T100 [130| 80 | 51 29| * |100|35| * |10 | 45| 9 |22 | * M8*1.25P | 1 | 2.5
-TSB12-85 HSK-T100 [135| 85 | 56 |29 | * |100|(42| * |12 (50| 9 |22 | * M8*1.25P | 1 | 2.7
-TSB16-105 HSK-T100 |155|105| 76 |29 | * (100,48 | * |16 | 70 |14 | 18 | 18 | M10*1.5P | 2 | 3.1
-TSB20-105 HSK-T100 |155|105| 76 |29 | * |100| 52| * |20| 70 |14 | 18 | 18 | M10*1.5P | 2 | 3.2

-TSB25-120 HSK-T100 [170|120| 91 |29 | * |100|62 | * | 25|85 |14 | 26 | 26 | M12*1.75P | 2 | 4
-TSB32-135 HSK-T100 [185|135|106|29 | * |{100| 72| * |32 |100| 14 | 30 | 30 | M12*1.75P | 2 | 4.9

-TSB40-150 HSK-T100 [200|150(121(29| * |100|/82| * |40 [115| 16 | 36 | 36 | M16*2.0P | 2 | 6
-TSB50-180 HSK-T100 [230|180|151(29| * {10092 | * |50 |145| 18 | 38 | 38 | M16*2.0P | 2 | 7.8

S
@_1 KE Length (L1)
O K/ Collect model
IHEEFLS Function Code
HFRFZ T, Shank size

== C07




HSK-T EHE BT & %5 O-N-W ©

‘TSB40 $8#2E 15840 CONVERSION SLEEVE

HA& D D1 d H1 H2 H3 G E= KGS
TSB40-8 118 13 40 50 8 50 7 34 M8*1.25P 1
TSB40-10 118 13 40 50 10 50 7 34 M8*1.25P 1
TSB40-12 118 13 40 50 12 60 7 34 M8*1.25P 1
TSB40 -16 118 13 40 50 16 70 7 34 M8*1.25P 0.9




5 0-N-w®

HSK-T £ E 8] FE

HSK-T-TSD R ERERTIE [$5LH]

HSKT-TSD INNE-R DIAMETER TURNING AND MILLING TOOL HOLDER(FOR DRILL)

FIG. 1

HSK. NO

‘)U

FIG. 2

—

H1

H3

MSH A

0
=
ot
2

[l

L2

L1

A}E,’é’: Note
* EEELE ATC BB RAMAN T35

Please take care to prevent interference within the

ATC cantilever and the machine.

A AR L L1 L2 L3 14 D DI d HI H2 H3 G FIG KGE;

HSK-T50 -TSD8 -65 HSK-T50 90 | 65 | 39 | 26 * 50 | 28 8 34 | 10 | 18 | M8*1.25P 1 0.8
-TSD10-65 HSK-T50 90 | 65 | 39 | 26 * 50 | 35 | 10 | 39 | 12 | 20 | M8*1.25P 1 0.9

-TSD12-70 HSK-T50 95 | 70 | 44 | 26 * 50 | 42 12 | 39 12 | 20 | M8*1.25P 1 1
-TSD16-75 HSK-T50 |[100| 75 | 49 | 26 * 50 | 48 | 16 | 49 14 | 18 | M10*1.5P 1 1.1
-TSD20-80 HSK-T50 |[105| 80 | 54 | 26 | 31 50 | 52 | 20 | 51 14 | 18 | M10*1.5P 2 1.2
-TSD25-85 HSK-T50 |[110| 85 | 59 | 26 | 31 50 | 62 | 25 | 57 | 14 | 26 | M12*1.75P 2 1.6
-TSD32-90 HSK-T50 |[115| 90 | 64 | 26 | 31 50 | 62 | 32 | 61 14 | 30 | M12*1.75P 2 1.6
HSK-T63 -TSD8 -65 HSK-T63 97 | 65 | 39 | 26 * 63 | 28 8 34 | 10 | 18 | M8*1.25P 1 0.84
-TSD10-70 HSK-T63 | 102 | 70 | 44 | 26 * 63 | 35| 10 | 39 | 12 | 20 | M8*1.25P 1 0.97
-TSD12-70 HSK-T63 | 102 | 70 | 44 | 26 * 63 | 42 12 | 39 12 | 20 | M8*1.25P 1 1.1
-TSD16-75 HSK-T63 | 107 | 75 | 49 | 26 * 63 | 48 | 16 | 49 14 | 18 | M10*1.5P 1 1.4
-TSD20-80 HSK-T63 | 112 | 80 | 54 | 26 * 63 | 52 | 20 | 51 14 | 18 | M10*1.5P 1 1.5
-TSD25-85 HSK-T63 | 117 | 85 | 59 | 26 * 63 | 62 | 25 | 57 | 14 | 26 | M12*1.75P 1 1.9
-TSD32-90 HSK-T63 [ 122 | 90 | 64 | 26 * 63 | 62 | 32 | 61 14 | 30 | M12*1.75P 1 1.9
-TSD40-100 HSK-T63 |[132|100| 74 | 26 | 32 | 63 | 68 | 40 | 71 16 | 36 | M16*2.0P 2 2.1
HSK-T100-TSD8 -70 HSK-T100 | 120 | 70 | 41 29 * 1100 | 28 8 34 | 10 | 18 | M8*1.25P 1 2.5
-TSD10-75 HSK-T100 | 125 | 75 | 46 | 29 * 100 | 35 10 | 39 12 | 20 | M8*1.25P 1 2.6
-TSD12-75 HSK-T100 | 125 | 75 | 46 | 29 * 100 | 42 12 | 39 12 | 20 | M8*1.25P 1 2.7
-TSD16-85 HSK-T100 | 135 | 85 | 56 | 29 * |100| 48 | 16 | 49 | 14 | 18 | M10*1.5P 1 2.9
-TSD20-85 HSK-T100 | 135 | 85 | 56 | 29 * 1100| 52 | 20 | 51 14 | 18 | M10*1.5P 1 2.9
-TSD25-90 HSK-T100 | 140 | 90 | 61 29 * |100| 62 | 25 | 57 | 14 | 26 | M12*1.75P 1 3.3
-TSD32-95 HSK-T100 | 145 | 95 | 66 | 29 * 1100| 72 | 32 | 61 14 | 30 | M12*1.75P 1 3.9
-TSD40-105 HSK-T100 | 155|105 | 76 | 29 * 100 | 82 | 40 | 71 16 | 36 | M16*2.0P 1 4.6
-TSD50-115 HSK-T100 | 165|115 | 86 | 29 * |100| 92 | 50 | 81 18 | 38 | M16*2.0P 1 5.3

AL RA:
T @Ll £ Length (L1)
A\ Collect model
IHEEL S Function Code
AT, Shank size




HSK-T E#E 8] &

5 O0-N-w®

EJIMBNE

DISPLAY FOR TURNING TOOLS

#{E 5= CLAMP MECHANISM

A | BACK CLAMP SYSTEM M | MULTI-CLAMP SYSTEM
C | CLAMP-ON SYSTEM P | PIN LOCK SYSTEM

D | DOUBLE CLAMP SYSTEM S | SCREW-ON SYSTEM

E | OFF-SET PIN SYSTEM T | TAPER LOCK SYSTEM
JS | SCREW-ON SYSTEM W | WEDGE-ON SYSTEM
JT | BACK CLAMP SYSTEM

..

VLR ZN

INSERT GEOMETRY

B TIRKE
INSERT
CLEARANCE INSERT EDGE LENGTH
Insert -~ 16.35|7.94|9.52512.0012.70

N inscribed circle
Al S E) 80 | 06 |08 | 00| - | 12

S [—|
B 5
cl 7 g%“ o7 | - | 11| - |15
D 15° tf§};735o 1| - 16| - _
E | 20
F| 25° Q S I B 20
G| 0 A 11 |13 | 16 | - | 22
N 0° —
—— O |- [w|-|=

D1 R~

D1 DIMENSION

JNERY

TOOL LENGTH METRIC

OO@@BBOED@DDOD@Q

HINRE P75 E
CUTTING EDGE GEMOETRY
80° 90° 75° 90°
55° AW B C D
550 60° 0° 90°
E F G EUWT H
93° 75° 95°
% 954
J K L M
633 17.5° 75°
35°
N P R s
80°
60° 30| 72.5%
Xama PP
120°
85°
85° N
Y
82°
75°
86°
135°
108°




5 0-N-w®

HSK-T £ E 8] FE

‘DCLN 5MZEZET]

AR
Spec.
HSK-T63-DCLNR-45065-12

DCLN EXTERNAL TURNING TOOL

97

65

45

31

Ak

Insert
CN..1204

EE (KGS)
Weight
1.26

HSK-T63-DCLNL-45065-12

97

65

45

31

CN..1204

1.26

|E2E%E Accessories

BhH BRR% RF

A

Insert

Shim Shim Screw
MLP46L-A

CN..1204 CMS432

=

Wrench
PL2.5

HAE
(N.m)
Torque

5.0

ER
S

B

[@E]le}

EfRIRZ

S 2

Clamp Screw

ERIRF

Clamp Wrench
PL3

HAE
(N.m)
Torque

5.0

-DDJN SM2 % 7]

FHK
Spec.
HSK-T63-DDJNR-45075-15

DDJN EXTERNAL TURNING TOOL

107

75

45

31

Ak
Insert

DN..1504

EE (KGS)
Weight
1.38

HSK-T63-DDJNL-45075-15

107

75

45

31

DN..1504

1.38

|E4t% Accessories

BhH BRRY wRF

Vil @Y
Insert

= 1

Shim Shim Screw  Wrench

DN..1504 DMS442

MLP46L-A

PL2.5

5.0

MC622

EARIRZ

Clamp Screw
MS630

ERIRF

= 1

Clamp Wrench
PL3

HAE
(N.m)
Torque

5.0




HSK-T £ 82T & <> O-N-W ®

-DTJN SMEZT] DTJN EXTERNAL TURNING TOOL

C
= AL kR E2 (KGS)
= 2 Spec. Insert Weight

= HSK-T63-DTJNR-45065-16 97 65 45 31 TN..1604 1.27

.ﬁ HSK-T63-DTJNL-45065-16 97 65 45 31 TN..1604 1.27

=

=

7]

|E2#E%E Accessories
BhH BRERY RF AHE ER EIRIR 2 ERRF AHE

|r71]s):rt @ ﬁy =0 (Nm M — (N.m)

Sl Shim Screw Wrench LEIGE Clamp Clamp Screw  Clamp Wrench Torque
TN..1604 TMS322 MLP34L-A PL2 3.0 MC620 MS630 PL3 5.0

Bz

-DWLN %MEZET] DWLN EXTERNAL TURNING TOOL

FHK Vil BEE (KGS)

Spec. Insert Weight
HSK-T63-DWLNR-45065-08 97 65 45 31 WN..0804 1.22
HSK-T63-DWLNL-45065-08 97 65 45 31 WN..0804 1.22

|E4t% Accessories
#BH BRIRZ RF EARIRZZ ERIRFE
HAHE HAHE
RS Y =/ nm : o T o

HEliE e Clamp Screw  Clamp Wrench HeliE e
WN..0804 WMS432 MLP46L-A PL2.5 5.0 MC620 MS630 PL3 5.0

Insert g
Shim Shim Screw Wrench




®
5 O-N-W HSK-T £ E 5B

-DVLN $MEET] DVLN EXTERNAL TURNING TOOL

A kR EE (KGS)

Spec. Insert Weight
HSK-T63-DVLNR-45075-16 107 75 45 31 VN..1604 1.30
HSK-T63-DVLNL-45075-16 107 75 45 31 VN..1604 1.30

|E2#E%E Accessories
BhH BRERY RF AHE EIRIR 2 ERRF AHE

|y g =) nm . 5> =)  (m)

Insert S
Shim Shim Screw Wrench LEIGE Clamp Screw  Clamp Wrench LIS

VN..1604 VMS322 MLP34L-A PL2 3.0 MC622 MS630 PL3 5.0

-DCMN 5MEZET] DCMN EXTERNAL TURNING TOOL

FHK B2 (KGS)

Spec. Insert Weight
HSK-T63-DCMNN-00100-12 132 100 CN..1204 1.68
HSK-T63-DCMNN-00140-12 172 140 CN..1204 1.68

|E4t% Accessories
Yy Eyrr " e iR EiRiRL [ E
> =y
Insert W (N.m) B0 M — (N.m)

Shim Shim Screw Wrench HEliE e Clamp Clamp Screw  Clamp Wrench HeliE e
CN..1204 CMS432 MLP46L-A PL2.5 5.0 MC620 MS620 PL3 5.0




HSK-T £H#HE 8] FE

‘DDNN %MZ2ZET]

A
Spec.
HSK-T63-DDNNN-00100-15

DDNN EXTERNAL TURNING TOOL

132

100

63

kR

Insert
DN..1504

EE (KGS)
Weight
1.55

HSK-T63-DDNNN-00140-15

172

140

63

DN..1504

1.55

|E2#E%E Accessories
BhH B84
yilay RO
Insert

Shim Shim Screw
DN..1504 DMS442 MLP46L-A

wRF

= 0

Wrench
PL2.5

HANE

(N.m)

Torque

5.0

Clamp Screw

ERIRF

Clamp Wrench
PL3

HANE
(N.m)
Torque

5.0

-DTEN M2 FT]

DTEN EXTERNAL TURNING TOOL

FHK
Spec.
HSK-T63-DTENN-00100-16

132

100

63

kR
Insert

TN..1604

EFE (KGS)
Weight
1.62

HSK-T63-DTENN-00140-16

172

140

63

TN..1604

1.62

|E4t% Accessories
#BH BRIRZ

eSS/

Shim Shim Screw

TN..1604 TMS322 MLP34L-A

wRF

Wrench
PL2

HAE
(N.m)
Torque

3.0

Clamp Screw

ERIRF

Clamp Wrench

HAE
(N.m)
Torque

5.0




5 O0-N-w®

‘DWMN 4M2Z%T]

HSK-T £ E 8] FE

DWMN EXTERNAL TURNING TOOL

L1

¢ D

EE (KGS)

AR ] ¥ 5 K

Spec. Insert Weight
HSK-T63-DWMNN-00100-08 132 100 63 WN..0804 1.48
HSK-T63-DWMNN-00140-08 172 140 63 WN..0804 1.48

| B2#%& Accessories
B2hH BRERY RF AAE FER

ey @ % (N.m)

insert : Torque Tg;l'Te)
Shim Shim Screw Wrench a Clamp Clamp Screw  Clamp Wrench a

WMS432 MLP46L-A PL2.5 5.0 MC620 MS630 PL3 5.0

EiRIRZ ERIRF AhE

WN..0804

-DVVN $MEET]

DVVN EXTERNAL TURNING TOOL

FHK
Spec.
HSK-T63-DVVNN-00100-16

132

100

63

kR

Insert
VN..1604

EFE (KGS)
Weight
1.40

HSK-T63-DVVNN-00140-16

172

140

63

VN..1604

1.40

|E4t% Accessories

o BR182 S ANE EiRIZZ2 FERIRF WhE
yilay @ W ﬁ (N.m) : M ﬁ i)

Insert | Torque Torque
Wrench a Clamp Screw  Clamp Wrench a
MLP34L-A PL2 3.0 MC622 MS630 PL3 5.0

Shim Shim Screw

VN..1604 VMS322




